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Question Number : 1 Question Id : 5431079424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Copper deficiency caused :

Options :
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Goiftre

l,w

Anemia

e

2.

Wilson disease

5 faog- arEml
Rickets
4 R&e

Question Number : 2 Question Id : 5431079425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the tollowing alkvlating agent used as disinfectant ?
=1 § § ®H-T1 TohigallcT o & SWiHTe MYGsad gl 3 gdr g 7

Options :
Merbromin

1 b ~.$

Silver nitrate
ey A18ce

Idouridine
3 ATESIYRITS

Glutraldehyde

4 JCE! ; E;”\::-g]g S

Question Number : 3 Question Id : 5431079426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Lysine is a limiting amino acid in :

TSI 3|1 377 3169 {131 § 91y Ardl g

Options :
Wheat

M
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Rice
o TG A

Com

, T A

All of the three
4 ST H o

Question Number : 4 Question Id : 5431079427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Examples of goitrogenic foods are .............. T ;

MSCTA-d W@rel &l IGEvy 4= 8d ¢ -

Options :
Turnip and corn

Rutabagas and okra
HTAA Td ST

Raw cabbage and turnips

F=dl hdel Tg exiad

Cassava and lettuce

Question Number : 5 Question Id : 5431079428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is trace element ?
fefeiad 5 9§ &9-91 9e9 dd 2 2
Options :

3 Ca

K
4
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Question Number : 6 Question Id : 5431079429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The nutrient needed for a health}' immune system and strong connective tissue

iR

=1 5 | PF-91 dcd WY GfoRes Uoiiell U9 Holga d-ided feg] 3 Heds 8 8 7

Options :
Fiber

hTgar

Vitamin K
o 19CTHT K
Vitamin C

, faef ©

Fluoride

4 TANTES

Question Number : 7 Question Id : 5431079430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

As per the USDA guidelines human being need following serving of bread,
cereal, rice and pasta daily :

USDA faenfaer & s-uR & A-a & Ufdfes 7= | § g8, wdell g, ardad
Ud 9Tedl &1 Td+ &l 120 ;

Options :

1-3
1.

4-5
2.

6-11
3.
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12-15
4.

Question Number : 8§ Question Id : 5431079431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Bleeding disease 1s due to deficiency of :
e d9En Ty faefaa & o591 9 81d1 2

Options :
Vitamin A
_{"T"'- " 2 s

LD A

Vitamin D

, fer D

Vitamin E
. fei E

Vitamin K

4 faeriaq K

Question Number : 9 Question Id : 5431079432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The blood vessels that supply blood to the walls of the heart are called :
Y difeil Wil Yad Bl gad @ 1Rl A Y9 ggdndl @

Options :
Coronary arteries

1 FTT T

e oronary veins
BN T

2.

Aorta

r

UHIET

Sup erior venacava

4 Qﬂ |_1 1_{’ ?] v fiq{ﬁ El |

Question Number : 10 Question Id : 5431079433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Aflatoxin i=s produced by :
AFATCITRI BT IAeT A+ 8T BT © :

Options :

Aspergilius sp.
g TR W9

Salmonelia sp.

ATAATAT W2

Fusarium sp.

3rvaﬁvmwsﬁm

Streptococcal sp.
4 CCIRIB T

Question Number : 11 Question Id : 5431079434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Spoilage of fresh meats occurs due to
Hel (ATeT) A &1 faged 9 & 8N g@=ad: BT @

Options :

Bacillus sp.

Pseudomonas sp.
5 QJﬂ\SIHI"Il‘H LS EHES;

Alternaria sSp-

5, SCERARAT TS

All of the three
4 AT H BT

Question Number : 12 Question Id : 5431079435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the tollowing is used in meat curing ?
die FIRT ufshar | 97 &1 92T &1 ©
Options :
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{ CaClz

.

5 NaC(Cl
N | T -

3 NaNO>

G0 NabBr

Question Number : 13 Question Id : 5431079436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is the soluble vitamin ?
=1 | | a1 9 goreie faenaa $9-91 8 7
Options :

i Vitamin A

5 Vitamin B>

3 Vitamin Bs

r Vitamin C

Question Number : 14 Question Id : 5431079437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is responsible for Plague ?
Fr=forRad 4 9 o &1 ®Rd DH-91 8 °
Options :

; I. spiralis

T. notatum
2.

P. notatum
3.

P. Chrylogenum
4. "
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Question Number : 15 Question Id : 5431079438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Potaszium sorbate is used as :
ERE Wi T FREIE e @ o T #
Options :

Flavour enhancer
lr Fii*t f";\F‘¥;:‘ gq
Prezervoire
5 T & diN OR
Acidulent
5 I TG Y

None of the three

4 O H | PIS T

Question Number : 16 Question Id : 5431079439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Swiss cheese is produced by :
Swiss cheese &1 IadTes 4 T BT © :
Options :

Propionibacterium shermani

QA aaeIRaGq XHE]

Streptococcus thermophillus
T A GG e 1 R TSRS

Lactobacillus bulearicus
=
3 Ade ey ao e Yd

Leuconostoc 5p-
YPHCD WS

4.

Question Number : 17 Question Id : 5431079440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Which of the following enzymes are involved in rancidity :
= § | $HE-91 3139 WHIfSEl &1 &P Bl & 7
Options :

Proteaze

LS

Lactasze

4 "

o> oTdCy]

I_ipase

3 CTIRUV

Catalaze

41 C.C

4.

Question Number : 18 Question Id : 5431079441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Cyclodextrin is which type of sugar ?
Cyclodextrin /=1 § 9 &9 UHN &1 TR 2 ?
Options :

Disaccharides

AL O A

1.

Trisaccharides

F
c ! b
e 3

Monosaccharides
3 21 0 ) R iy

Pul}*aa ccharides

4I Sl F '\(\ ‘.gk‘

Question Number : 19 Question Id : 5431079442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is non reducing sugar ?
=1 d ¥ $=-91 19 reducing sugar (1) & ?

Options :
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Glucosze

Fructose

YdC

2.

Lactoz=e
3 \"'.i d E.,. IGI

Sucrose

4 GO

Question Number : 20 Question Id : 5431079443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Ilets of T_:mgerlmns are -
(\ - e F}“""" = LY C\ .\,?: :

Options :
Small tubules in kidney

l]ﬁqmﬁw

Present in pineal gland
5 'jirliiﬂcil WT?"T ]L'I ﬁldlubia

Ductless glands in Pancreas
IR H Sdedd ey

3

Prezent in liver
UM SE

4

Question Number : 21 Question Id : 5431079444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which one of the following is egg laying mammal ?

FTeIRad 5 ®IH-91 ST WiHurdl 2 ?

Options :
Echidna

L S

collegedunia:

India’s largest Student Review Platform



Km1garnﬂ

o BTG

Bat
ﬂ ]:i 7 | E: .S

Rat

Question Number : 22 Question Id : 5431079445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

In the liver alcohol is converted to:

i~

qPpa H ING B GiRgia fear o € ¢

Options :
Cafteine

A
fli 1]1;'

Acetone

> CiTi

Acetaldehvde

LIS BISS

3\\

All of the three
n GIGIR: ;L]

Question Number : 23 Question Id : 5431079446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

The important sugar in hﬂney R e ‘
ijli:-q q IlE’Ta!LI \'ifi-’gl .............. g I
Options :

Lactose

1 REES

Fructose

Z.W

collegedunia:

India’s largest Student Review Platform



Maltoze

3 H] (’C\] 5|

oucrose

Question Number : 24 Question Id : 5431079447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

P

QeI oT

Options :
Gmp es

1 R

Pine Apple

Orange
SIeg

Etmwberrj.‘

Viticulture is related with .............. :

Question Number : 25 Question Id : 5431079448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the number of the Chromosomes atfected by Turner syndrome ?
e} THeMm 9 u9Iidd EaE &1 9T fha-l & 7

Options :

——
i,
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Question Number : 26 Question Id : 5431079449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Omithophily refers to the pollination through which among the fnlluwing ?

AtfHenhen M=feriad § 9 f59 & #5999 WY &I defdd &edl & 2
Options :

Wind
ll I\_EEI;!

Insects

CI) |

2.

Birds
5 T

Water
4 Vic

Question Number : 27 Question Id : 5431079450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Cell or tissue death within a living body is called as :

Options :
Neutrophillia

; AgIThier

Nephrosis

5 IR

Necrosis

e o

None of the three

4 O H 9 BIg T

Question Number : 28 Question Id : 5431079451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Which group of animals of Charles Darwin best known for studying ?
ey Sifa 69 998 & Jegg9 & Y S o € 7

Options :
Whales

1E¥f-"f"*T

Birds

5 Tef

Feral cats

Lizards

('J(:‘I'

Question Number : 29 Question Id : 5431079452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks: 1

Question Label : Multiple Choice Question
ELISA' test is employed to diagnose :
Tferar mi@n &1 g & & fore Aafea fear 1 2
Options :
Cancer

l {\L.- W

Polio virus
> qifer T IRy &7

ATIDS antibodies

Tuberculosis bacterium

4 UGS Siram &

Question Number : 30 Question Id : 5431079453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The green house effect is due to:
119 8199 U419 T PNV §

Options :
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Sub-Section Number: 2
Sub-Section Id: 543107180
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 5431079454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

When was the first complete census of India conducted ?
XA BT J2H T T B9 DS o ?

Options :

i 1881

39
3 1391

190
. 1

1951
4.

Question Number : 32 Question Id : 5431079455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Damodar basin is known for which of the following ?

areR i fefafad 5 9 fog & g S S g 2
Options :
Natural gas
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Question Number : 33 Question Id : 5431079456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Diseases are broadly grouped into infectious and non-infectious diseases. In the
list given below, identify the infectious diseases.

Tl T S HY § GhHS AN IR-GhrHd W H aier 71 8| A a1 T2 g F,
HhTHE I DI ggdr N

(i) Diabetes (i1) Intfluenza (iii) Allergy (iv) Small pox
T ERl G Totail LI R IC
Options :
(1) and (ii)
, () IR @)

(ii) and (iii)
, (@) AN (iid)

(ii1) and (iv)
; (iii) 37 (iv)

(ii) and (iv)
4{ﬁyﬁmth

Question Number : 34 Question Id : 5431079457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The disease chikunguniya is transmitted by :

collegedunia:
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Female Anopheles
HIST UAIbeils BN

Aedes mosquito
> USISl H&BR &R

House tly

Cocroach
faergs] 8N

Question Number : 35 Question Id : 5431079458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Black revolution is related with :

Options :
Coal prnduc tion
1 PIIT IATEA

Petroleum

ot

s IR

Horticulture

5\ drc

Agriculture

Question Number : 36 Question Id : 5431079459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the fnlluwing country is not a permanent member of UN Security

Council ?

FrfeIRad 5 9§ &-91 <31 Yo Udo Y& uRue &1 W ¥e 787 2 7

Options :
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Germ:mj:
j ¥

France

5 I

Russia

E.W

China

L

Question Number : 37 Question Id : 5431079460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The World Environment Day is celebrated through out the world on

every year.

Options :
1\-1513* 3
S HE

July 11
1 e

June 5

-

3 5

August 27

27 AT

Question Number : 38 Question Id : 5431079461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Who wrote Prithviraj Raso' ?

GRS YT fhue forar ?

Options :
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Ban

1.W

Chandabardai

5 G L A

Laxmidhar

5 SIeHEN

Jaichand

4 G E

Question Number : 39 Question Id : 5431079462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Which foreign traveller accompanied Mohammad Ghazni to India ?
B4 Aol It aE™e oA © 91y 9ING AT o1 7

Options :
Ibn-Batuta

j, DD

Al-Masudi

5, SR GE

Abdur-Razzak
3 X~ OGIGE

Question Number : 40 Question Id : 5431079463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A food chain consists of -

Qre 4Een § |fEferd €

Options :

collegedunia:

India’s largest Student Review Platform



Consumer cml}-'

Producer, Dnl}"
ff:ﬂﬂ di'ﬁilﬂiii

Producer, and consumer
IAEd TAT IUHETFT

PdeuCE‘r, consumer al'ld gO\-'E'rlunEHt
Jcqiach. 39 AT 20T GUhR

Question Number : 41 Question Id : 5431079464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks: 1

Question Label : Multiple Choice Question
Whose terms, among the following, was longest as Chief Election
Commissioner in India ?
7 # 9 f5gs sriee ARG & J& 9919 ARSI & w9 H Ga9 oEbr o7 2
Options :

T.N. Sheshan
y, Clo Tefo AT

M. S Gill
5 UHo U{o fret

B. B. Tandon
3 ?_ﬁ'-:n E—ﬁfj EE):{

I. 5. Krishna Murty
5 clo Tdo W1

Question Number : 42 Question Id : 5431079465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The 'Sarva Shiksha Abhiyan' aims at :
wq e FIfFa &1 I89 8

Options :
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Universalization of Primary Education

wreifae f3rem &1 QraHiEeTor

Universalization of Sec ondary Education
qreatas ¥ &1 Qe

Universalization of Higher Education

3=g 9 &1 HradaTHE

Universalization of Girl Child Education

Question Number : 43 Question Id : 5431079466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Indian Income taxis :
T &1 AT B B
Options :

Prugreszive

1 gl”“-(”("

Proportional

2orrjﬂrr1%m

Regressive

3 HIGTE

Indirect

i AU

Question Number : 44 Question Id : 5431079467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following sector has experienced maximum growth rate in India
in past few year ?

=1 4 9 e &= d 9Ra ¥ gfg X sffereaq <& 8 ?

Options :
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Agriculture

FJTW

Services

Industry

Manufacturing

4 faf=ro

Question Number : 45 Question Id : 5431079468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Venuzisthe ... .. . . planet from the sun.

UF G T8 2|

Options :
1st

p, decll

4th
4 A

Question Number : 46 Question Id : 5431079469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The poisonous gas accidentall}* released in B].‘ll:lpﬂl Gas Tragedj.-' was ?
ATaTel 19 GHCAl H gHCAEY Sl Siedel 19 e T3 o 9@ AW @1 2 7

Options :
Radon
l % \:‘
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Benzene

Methyl Isocynate

3ﬁ94{“,\r".

Uranium

4133#‘%%

Question Number : 47 Question Id : 5431079470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Which layer of atmﬂsphere contains ozone lajcer 2

argHsel @ | IRd H o W 2 ?

Options :
Troposphere
E [ WS (O

Stratosphere
HHOIY HVs0]

Innnsphere
AT HUE

Mesosphere
T JUSH

Question Number : 48 Question Id : 5431079471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

The SI unit of intensity of sound is :
edf P AT B THo Ao ThIs T & 7
Options :

Watt per kilo meter

Watt per square meter
2 gfd SERN |y 91c
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Kilowatt per square meter
5 ufd RN Aiex o ae

Kilowatt per meter

4ruﬁrﬁaﬁm‘1m

Question Number : 49 Question Id : 5431079472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The provision for 10% reservation to Economically Weaker section of society
has been made by':
A & AMS 9 9 AR a1 Bl 10% IRV o+ H1 Wau= fhas grr faa
T 7
Options :
103rd Constitution (Amendment)
, WfaEr @ 103d WA g™

102nd Constitution (Amendment)
, fdEr & 1024 G9eF g

100th Constitution (Amendment)
o Gfaar= @ 100d G9NeE gy

99th Constitution (Amendment)
4 G @ 99d W &I

Question Number : 50 Question Id : 5431079473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Bee-keeping is known as :
Options :

Sericulture

GR&EeaR

1

Apiculture
Ufehea

2.
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Vermiculture

B,C OTX

Pisciculture

4 E—i |r| qu}}l.""ﬂ:lq

Question Number : 51 Question Id : 5431079474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following Microorganism is used in bread making ?
9% g ¥ fieriiad § | fod geqoild &1 JarT 8l 8 ?

Options :
Yeast

1.W

Bacteria

Mould
5 PR

Virus

4Iw

Question Number : 52 Question Id : 5431079475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

QU.EEtiOH Label : Multiple Choice Question
Sugar found in Milk is -
59 H 9T W 49Tl Wh T8 7

Options :
Glactose

Y

1 | '-’TE\! Ui

Lactose
i S

Fructose

3 HacTui
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Mannosze

4.W

Question Number : 53 Question Id : 5431079476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Numbers of chromosome (2n) is human beings is :
999 | U W 1ol $ETEE (2n) B @0 €

Options :

42
1

Question Number : 54 Question Id : 5431079477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Nuclear Power Plant Kaiga is located at :

-

AVIad Al A3 BT Fal g 8 7

Options :
Gujarat

1W

Tamilnadu

o MEWTHY

Karnataka

P

3I C __l.—,r

Maharashtra

, TERTE

Question Number : 55 Question Id : 5431079478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question

Who among the following presided the historic Lahore Session of 1929 of
Indian National Congress ?

frferiRad | 9 fhaa 1929 & R ML Hiad & Clfasigd der Eder &
HEUSTAT Bl oY ?

Options :
Pandit Jawaharlal Nehru
UTSd WdreY ool 8%

1

Lala Lajpat Rai
> oTedl eid49d X1

Rajendra Prasad
3 NToTvs W9

Pandit Matilal Nehru
4 gfed g9rdl ota H8%

Question Number : 56 Question Id : 5431079479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

The famous Chinese traveller Fahien came to India during the reign of :
gfag =1 A= w9 &iel § WIRG ST o7 7
Options :
Harshavardhan
| EUaE
Kanishka

> G E‘aﬁih

Chandragupta II
o A= I

Samudra gupta

R

Question Number : 57 Question Id : 5431079480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

collegedunia:

India’s largest Student Review Platform



Which one of the fn]_lnw:i.ng Grand Slam title is also known asz "Rolland Garros"
title ?

fa=feRag 5 ¥ fog i " &1 Joive 999 91 Fgl A1 g 7
Options :

Australian Open
4 ATEcTermg 3iue

Wimbledon

> |aiac*%’-i

French Open
3 ﬁ \

U. 5. Open
g Jo THo 3T

Question Number : 58 Question Id : 5431079481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The following statements are about environment :

fer=Tferiad o TaieRy & fava H € :
A. Environment is the sum total of all surroundings of a living organism,
UATaRoT Wi & IR a¥® & YRSl &1 AT 2 |

B. There are interactions between living and non-living things both in the
environment.

UGTaRYT § Oid 91 37wid eF1 STl & H3eq 3fdafhar gl 2 |

Select incorrect answer :

gcollegeduniaa
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Both A and B
5 AT B &l

None 15 incorrect
i Bl Told A8l &

Question Number : 59 Question Id : 5431079482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The following statements are about ecosystem :

Feferfad s uiRelfas 93 @ fava § €

A. The biosphere is divided into ecosystems.
Sraviee MR o der #)

B. Living organisms along with physical factors in a definite zone constitute
an ecosystem.
U Affad g@vs 4 Aifae ool 3R Sdl & 9 TiReIfde 7 $1 TeA gl
Tl

C. There are dynamic interrelationships between organisms and their physical
environment.
STl SR Hifde gafaer & Jed Tfad JRyay A Wi g |

Select correct answer :

el I f‘!ﬁq :

Options : )

Onlv A
, Pad A

Only C
@dd C

Band C
3 BUd C

A, Band C
i A BT C

Question Number : 60 Question Id : 5431079483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : I‘?‘IUltip]E Choice Question
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What is intraregional migration ?
Il &= UgoiF g ®8d € ?

Options :
Village to village
Country to country
5 oY ¥ o9 H

City to village
5 R ¥ 19 H

Within a region
; 8T & Widaw

Sub-Section Number: 3
Sub-Section Id: 543107181
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5431079484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Find the missing number in the follor ving series

Frefoiad Sl 3 o e S B
3,24, 12,7,18,54
Options :
26

24

Question Number : 62 Question Id : 5431079485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Q_uestion
Find the missing number in the follot ving series :

2/3,4/7,?,11/21,16/31

rF =r

Question Number : 63 Question Id : 5431079486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Fill in the missing number in the following arrangement based on some

principle :

&P fgEd W Ry = o= § g« 9@ 9Ry

3 6 4
3 ? 7
14 16 18
Options :
1. 4
5
2.
b
A
3
4.

Question Number : 64 Question Id : 5431079487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question
Find the missing letters in the following series :

=1 ot § @ 9uiHTer SiTd BIfY

QAR, RAS, SAT, TAL, ..............

Options :
, UAV

TAS
2.

UAT
3

TAT
4.

Question Number : 65 Question Id : 5431079488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLlltip]E Choice Question

Find the missing letters in the following series :

e Sl § o auisTen s IR

BLEEY GEHIT, BT, <ocvnni , MLNT
Options :
i OLPT

LIMI
2.

KLMT
3,

KLLT
4.

Question Number : 66 Question Id : 5431079489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Find the next pair in the sequence :
hH i:i ST Uﬂx‘f&f ETEEI ‘_ﬁ”wﬂlq ;

C-3,E-6G-12,1-24 K-48, ... . ... ...

Options :
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1.
M -96

v

5 L-96

7 O-45

Question Number : 67 Question Id : 5431079490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

It 'CERTAIN' is coded as 'XVIGZRM' in a particular code language, then how
MUNDANE' be coded in that language ?

g 'CERTAIN' {929 & @ H§ 'XVIGZRM' & &Y § % & a1 € 9 39
H19T § 'MUNDANE' &4 @c fddr Seem 7

Options :

; NFMWZMX

VMZWMEN
2.

NEMWZMV
3.

1 MIMXZMV

Question Number : 68 Question Id : 5431079491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

In a certain code, MOTHER ' is written as ' OMHURF'. How will 'ANSWER' be
written in that code ?

BT He § 'MOTHER' @1 'OMHURF & %4 H for@r a1 2| '"ANSWER' @I
¥4 & H o9 forEgr e ?

Options :

y NBWRRF

5 MAVGPE

[ ]
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3 NBWIRD

i NAWIRF

Question Number : 69 Question Id : 5431079492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In a certain code, 'COMPUTER' is written as RFUVONPC'. How is PRINTER'
written in the same code ?

®fud ®e H, 'COMPUTER' &I RFUVQNPC & U ¥ f&ar a1 8| PRINTER
&1 I T § dY o o g ?

Options :

RFUOJSP
'

5 PFUOJSR

2 PSJOUFP

, RSTOUEP

Question Number : 70 Question Id : 5431079493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If A stands for 5, B for 6, C for 7, D for 8, and so on, what do the following
numbers stand for 22, 25, 8,22 and 5 ?

afg A,5 BT UGI® &, B, 6 @1, C, 7 &1, D, 8 &1 T7 34! UbR 3T M, = &=

22 25,8, 2274 5 fhgdr Udld & ¢

Options :
y PRIYA

4 NEEMA

3 MEENA

4 RUDRA

[ ]
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Question Number : 71 Question Id : 5431079494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In a certain code language, '526" means 'sky is blue’, 24' means 'blue colour’,
and '436' means 'colour is fun'. Which of the following digit in that language
means 'fun' ?

oy

BT He AT H '526' DT Hcld & ATHE Alcnl &, 24" P Jaed & Hiell I ql
'436' 1 Hcd T AMEG-UATE 2 | 39 9 § 1§ 9 {69 de &1 "aoe AHle-
qHE ® 7

Options :

1.

I‘H‘J

I~

Question Number : 72 Question Id : 5431079495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the word that is least like the other words in a group.
vreg Y W1 HHE H o Teal @I Wifd &H 9 $H &

Options :
Moon

doH]

Sun

,

Universe
3 FEUS

Planets

4 T

Question Number : 73 Question Id : 5431079496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Find the odd pair of words :
vreg] & {999 g™ $1 HAId DAY

Options :
Room : House
{ hHYT ¢ X

Atom : Electron
3 OYH] [i] : .;?[L;I{'I‘C II I g

Car : Engine

BN : S

Milk : Water
CORIE |

Question Number : 74 Question Id : 5431079497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Find the odd number pair :
99 G g7H B S DI

Options :

'_;.'!_
ji T

L |
(%]

Question Number : 75 Question Id : 5431079498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Find the odd number pair :
T[99 =T g H Idr sy
Options :

h:26

1,
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749

8:65

Question Number : 76 Question Id : 5431079499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Find the odd letter group :
Options :

BCD
1:

MNO
2

KIM
=

POR
4.

Question Number : 77 Question Id : 5431079500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Find the odd letter group :
Options :
. XUW

DAC

Question Number : 78 Question Id : 5431079501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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As Pen' iz related to 'Ink’, 'Needle' is related to :

oY Fold el 9 gEfad § 13'5’ Hafag g
Options :

Thread
; gl 9

Cloth
HUS G

::>t1tchmg

TS 4

Question Number : 79 Question Id : 5431079502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

'Science’ is related to 'Laboratory’ in the same way as 'Astronomy’ is related to :
Options :
Observatory

Telescope

Space

5 SfiReE H

Station

, T H

Question Number : 80 Question Id : 5431079503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

'\-"ictnrj.' : Encm1ragement - - Failure : ?
s : UToHTES @ : 3fg%orar @ 7
Options :
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Bad
axl

Defeat

5 UNTHY

Anger

5 Eaie

Frustration

¥ ] ]

4. =

Question Number : 81 Question Id : 5431079504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Interview : Job : : Armistice : ?
FIEHR : AN : : EiavH : ?

Options :
War

1 3

Treaty

o W
Amnesty

3 NTSETHT

Agreement

Question Number : 82 Question Id : 5431079505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A has three children. B is the brother of C, and C is the sister of D; E, who is the
wife of A, is the mother of D. There is only one daughter of the husband of E.
What is the relation between D and B ?

AT TETITHEIBCH AE 21 C,D®H 984 2, E T A & et 8 D &l A
ZIER Ufd & gt U 9l 81 DUG B S &g R’ 949 & 7

Options :
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B iz brotherof D
BD®NHE E

B iz not related to D

B, D &1 =] 98] ©

D is sister of B
D B®! @84 &

None of the three

4r?ﬁ:ﬂ\"fiﬁ?rﬁ§:f§f

Question Number : 83 Question Id : 5431079506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Anil introduces Rohit as the son of the only brother of his father's wife. How is
Rohit related to Anil ?

JfFe 5 AT &1 aR=g 3+ fOar & ool @ Sdheld 918 @ 9¢ @ ®9 H Hean|
Ifed &1 a9 &1 q99 g 7
Options :

Son

g o7

Uncle

=T

Son-in-law

Question Number : 84 Question Id : 5431079507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Pointing to a woman in a picture, Amit said 'Her granddaughter is the only
daughter of my brother'. How is the woman related to Amit ?

TEN H Afed @ AN AN & gU AHT 9 Hel "THS! UK AR 9E DI UHAH
qcl 2 1" "igen &1 JfFEd | @1 Rear g 7
Options :

Sister

1.

Grandmother

2, T

Mother-in-law

Question Number : 85 Question Id : 5431079508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Chintan walked 15 km towards west, and then, he turned left and walked for
20 km. Then, he moved towards east and walked 25 km, and finally, turning
left, he covered 20 km. How far was he from his starting point ?

o affem @1 AR 15 & a1 8 T dovard 98 ard gear & a1 20 fd
Toldl 21 $9d 915 98 YRd D AR WIal 2 Ud 25 [HH o & 991 A H 9
gl 2, 98 20 {5 &1 g8 T9 &A1 2| 98 AU RS W § e g 8@ 7

Options :
20 km

20 T

30 km
, 30 st

10 km
3 10 fHH

None of the three

4 L H | BIE TR

Question Number : 86 Question Id : 5431079509 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Shalini walked 15 m towards south, took right turn, and walked 3m. She took a
right turn again and walked 15 m before stopping. Which direction did shalini
face after stopping ?
eferl SEYoT &1 3R 15 Hlo Telcl &, ™ gSal g Ud 3 Hlo Adell g1 98 JA: q™
gsdl € Ud ©b & Tgdl 15 Hlo Tcidl €| Tb- & dra Il &1 e fbg fem 1
HR a7 ?
Options :

West

1.

South

5 GIET

East
3 &

North
It

Question Number : 87 Question Id : 5431079510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rahul started from Point A and travelled 3 km towards the north to Point B; he
then turned right and travelled 7 km to Point C, and from Point C, he took the
first right and drove 5 km to Point D. Then, he took another right and travelled
7 km to Point E, and finally, he turned right and travelled for another 3 km to
Point F. What is the distance between Points F and B ?

g WM A § g1 3RY YAl € TYT VIH B & IR &I AR 8 fdflo Feidr 2 d8
deqeerd S/ qedl € U WiF C ¥ 7 e Fcfar € 991 @4 C ¥ 94 Ugd T
forar wd 5 fddlo S D a@ Fomdn | dvard SE- U gl ol At forar aen
7 fpdlo 01 E I I f&am| Tom 3 & 98 S g1 91 3 f&Ho F 0@ | fag
FUGd B® a9 &1 41 & ?
Options :

1 km

1 fHHio

1

2 km
2 fdto
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3 km

3 3 fhAo

1km
i 4 TehHlo

Question Number : 88 Question Id : 5431079511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

A, B, C, D and E are sitting on a bench. A is sitting next to B; C is sitting next to
D, and D is not sitting with E who is on the left end of the bench. C is on the
second position from the right. A is to the right of B and E. A and C are sitting
together. In which position A is sitting ?

A BCDU E ddaWRdCEZIA BT TAdEI 8 C, D Tl 9ol 8 a1 D, E
AT TGO A dd I N RZICTH A TR VT REIA BWE®
TR EIATWCTRA S Z I AFPA R W aar 2 ?

Options :
Betiveen B and D
IBWD$ﬁa

Betwveen B and C
2B@C$ﬁa

Betwween E and D
5 B Uqd D& 949

Betiveen C and E
,CTWE® 4

Question Number : 89 Question Id : 5431079512 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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P,Q,R, 5 T, U, Vand W are sitting around a circle and are facing the centre :
P,QR,S,T,U VAW T & IRl AN 93 & TUT S7d1 UV B &l 3N ¢

I. Pissecond to the right of T who is the neighbour of R and V.
P,T® S gE € Gl RUd V&I ISl 2|

II. Sisnotthe neighbour of P.

S,P &I Usig A8 2 |

ITI. V is the neighbour of U.
V, Ul 9Si 2 |

IV. Q iz not between S and W. W is not between U and S.
QST W a8l el WUTA S &g =128 ¢ |

Which two of the following are not neighbours ?
=1 9 & P9 31 uSRA T 2 7
Options :
Rand V
; RTaV

UandV
5 uwvVv

Rand P
5 RUT4 P

Qand W
,QUWE W

Question Number : 90 Question Id : 5431079513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

P, Q, R, S and T are sitting in a straight line facing north. P sits next to S but not
to T. Q is sitting next to R, who sits on the extreme left corner. T does not sit
next to Q. Who sits to the left of S ?

P,Q R, SUdT I &l 3R e &b Qe ¥41 § 98 21 P, S & 99T 490l & Wl f&
T® T 78l | Q, R & &9cl 4ol 2, Wil 3ifcH a &< W de1 2| T, Q & a7Tal el
dST 21 PSP i do1 8 ?

Options :

P
1.
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Sub-Section Number: 4
Sub-Section Id: 543107182
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 5431079514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The price of cooking oil has increased by 25%. The percentage of reduction that
a family should effect in the use of cooking oil so not to increase the
expenditure on this account is :

HfhT AT BT e 25% TP Fgl 2| deral @ dfawa fFud aRar |feT s
& WART 9 yIad 81 39y 39 $RV 9 § g 18 @ Al 2

Options :
25%

30%

20%

15%

Question Number : 92 Question Id : 5431079515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If 75% of the students in a school are boys and the number of girls is 420, then
the number of boys is :

afe fdenaa # B1F @1 75% dSh § a1 dsihdl B G 420 B, 79 dSdl B
qE&T

Options :

1 1,176
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Question Number : 93 Question Id : 5431079516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The price of an item is increased by 20% and then decreased by 20%. The final
price as compared to the original price is :

A HHE &1 DIAT 20% TH dedl & a0 aoedrd 20% el 2| Jof DA @I e
H 3ifoy @oEd & -

Options :

20% less

20% &H

20% more

20% 3ferh

4% more

4% 3T

4% less

4% ®H

Question Number : 94 Question Id : 5431079517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A man spends 75% of his income. His income is increased by 20% and he
increased his expenditure by 10%. His saving are increased by :

U A AU T BT 75% Wd Heal | STd1 I 20% TP dedl & gl 98 AT
e 10% 9gIdT 2 | 39P! 99d dgdl &

Options :
10%
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Question Number : 95 Question Id : 5431079518 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If the price of a television set is increased by 25%, then by what percentage
should the new price by reduced to bring the price back to the original level ?
g Telfdu Ue &1 dIFd 25% @ dgdl 2, a9 by gfaerd 9 #Ed &1 o W
dd araq o1 & o1 4 DIHd I &9 [dar S arfeg ?

Options :

15%

1.

20%
25%

30%

Question Number : 96 Question Id : 5431079519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

As the price of mangoes decreased by 25%, I can purchase 4 mangoes more of
% 60. What is the new price of one mango ?

dfh ATH Bl PIAT 25% Th Hel 21 H T 60 F 4 M R Jgd @i Ghal €| T
A B A DIET R E 7

Options :

X5

s P

2,?4

5 i BT

None of the three

o THEH | PrE T
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Question Number : 97 Question Id : 5431079520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If the length of a rectangle increases by 10%, by what percent should the
breadth decrease to maintain the same area ?
I AT D IS 10% TP dedl 2 FHG! &AFABA B g9 W& @ fan fhg

Options :

1I10°a

20%

Question Number : 98 Question Id : 5431079521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If the price of potatoes increased first by 20% and subsequently by 40%, what is
the final price per kilogram, if the original price was ¥ 25 per kg ?
afe 3] B DG a9 T8 20% TP doal & T 919 F 40% @, ufa feeram
qgal 2 | Jfcs sHa @ 2 afe ga @Ea ¥ 25 g e o ?
Options :

40

Question Number : 99 Question Id : 5431079522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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The radius of a circle has increased b'_s,-' 20%. By what percentage does the
circumference increase ?

ga @I 3T 20% a6 dgal €1 &9 giawd 9 aRkfe 9g @i 2 ?
Options :

20%
1.

5 40%

44%
3

43%

Question Number : 100 Question Id : 5431079523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The length and breadth of a reactangle are 20 cm. and 10 cm. respectively. The
length is increased by 10% and the breadth is increased by 20%. What is the
new area of the rectangle ?

ah

afe a1 IS U drers HE9E 20 99T U9 10 991 2| o T1E 10% d@ dedl 2
deIT drers 20% dd gadl 8 | 3d &I 74T 843 &1 & 7

Options :

240
1

254
&

264
3.

230
4.

Question Number : 101 Question Id : 5431079524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The number of seats in a auditorium are increased by 25%. The price on a ticket
is also increased by 12%. What is the effect on the revenue collected ?

YETE H Wic &1 H®& 25% Th dedl & | fede & dEd W 12% TF dedl g
Uhiad Toid U T U919 © 7
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Options :
37%

40%

3 42%

None of the three

4 O H F BIE T

Question Number : 102 Question Id : 5431079525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

The average wight of 8 articles is 25 kg. If the average weight of 3 of them is 20
kg What is the average weight of rest of the 5 articles ?

8 WHEMI &1 3f19d R 25 fddre 2| Ifg 399 3 &1 3iT9d ¥R 20 fHme g, o1 911 5
ATEFET & AT TR FT 8 7

Options :
26 kg
26 e

None of the three

4Eﬁﬂ‘1ﬁﬁ?ﬁl‘s‘¢iﬁ

Question Number : 103 Question Id : 5431079526 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The average speed of a taxi car from Town A to Town B is 35 kmph and return
journey is 42 kmph. What is the average speed of the whole journey ?

HEl A H HEl B d@ cadl dIR $l 3irad arel 35 fhdlo/6el € d=m aradl arsm 42
fpHlo /5eT 2 | WUl AT @1 I O 91§ 7

Options :
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35.5 kmph
35.5 f&Hlo Uid HeT

36 kmph
36 fdle ufd Her

38.17 kmph
38.17 fb4lo gfa ger

Cannot be determined

fAfeaa w21 foam < 9&ar 2

Question Number : 104 Question Id : 5431079527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A car owner buys petrol at ¥ 8 and ¥ 10 for two successive years. What
approximately is the average cost per litre of petrol if he spends ¥ 4,000 each
year ?

Uh BN Hlfcid & AFMaR 981 5 T 8 91 T 10 ¥ Uciadl @iedl 2 | Ugid &1 3i§d
AN 9fd SiieY ST @1 2 afq 98 T 4000 9@ 99 @9 &Yl 8 7

Options :

1.?(}

3990
2.

T 8.88
B

None of the three

4 O H ¥ BIY T2

Question Number : 105 Question Id : 5431079528 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The average age of a husband and wife was 22 years when they were married

tive years back. What is the present average age of the family if they have a
three-year-old child ?

ofd Ud Uil Bl AT A1 22 a9 o W9 g9 N | Ui 94 ugel fadare fear e
URAR B IdA ATET A 1 € ¢ e 39 U9 <1 99 DI 9H BT g7l 8 7
gcollegedumaa
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19 years
19 %

25 years
25 99

27 years
27 99

28.5 vears

5 q4

o
w
1

Question Number : 106 Question Id : 5431079529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

3 : o : 1 :
A train runs for 2 hrs at a speed of 35 kmph. It runs for 3— hrs at the speed of 60

kmph and then runs for 2— hr= at the speed of 70 kmph. Find the average

I"~J|»—-

speed of the train :

Udh ¢ 35 fddlo /g @ Al R 2 ©T grsdl 2| U8 60 fhdlo /HeT @ 91 W 3

2 |

Hel gredl 8 ol aogdrd 70 fddio/Her @l Ird W 2= ¢ gisdl 2|1 ¢ @I 3ad

9 | -

AT ST DITIT

Options :

50 kmph
50 fFHlo /HET

30 kmph
30 frdlo /5ET

56.87 kmph
56.87 fddlo /5ET

Question Number : 107 Question Id : 5431079530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A man's monthly income is ¥ 1,400. What should be his average monthly
expenditure so that he is able to save ¥ 3,600 in a year ?

Udh fad ® Jig® T T 1,400 2| IHH1 3A19d A@1ae @9 71 eq arfet foad
g8 Udh 99 H T 3,600 99 H TeiH B gb 7

Options :

< 1,000
.

< 1,100
2.

< 1,150
3.

< 1,200
4

Question Number : 108 Question Id : 5431079531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The average of A, B and C is 50. I D is 10, what is the average of A, B, C and
D?
A BT C& 3ga 5081 afe D102, df A, B,CUd D &1 3idd &1 & 7

Options :

15
1.

40
2.

30
2,

60

Question Number : 109 Question Id : 5431079532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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A and B start from the same destination and take the same route. A starts at 38
am and drives at a speed of 40 kmph. B starts at 9 am and drives at a speed of
50 kmph, If the destination is 350 km away from the starting point, how far will
A be from the destination when B reaches there ?

A Ud B Ud & e | 3NH &Yd & ool U &1 37 A 21 A, 8 aof Urd: el
ARH HYAT © a1 40 o /e 1 aral R TSl garal € 1 B, 9 a9 Urd: e 3INH
HYdl 2 Td 50 fdHlo /9e1 &1 A1d WR Tel Il & | gfe ide IR I 9 350
fpsilo gR 2, o1 A 7ided | fda1 X 81° w9 B 981 Ugddl © |

Options :
20 km
1 20 G

30 km
30 fdle

50 km
50 fhdlo

70 km
70 f&HIo

Question Number : 110 Question Id : 5431079533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A train completed half a trip at 30 miles per hour and the other half at 60 miles
per hour. It the whole trip was 20 miles, how much time did the train take to
complete the trip ?

UF £ 30 Hid ufd Her wR el amn q¥ fn aem oy omen 60 #ie ufd Her wR
o o | afe |grqut arEn 20 Hia of, @1 a1 F1 ) @ & U $9 @1 feaar 9w
T ?
Options :

90 min

lqofﬁm'c'

60 min

> 60 TH+1e

45 min

Bﬁﬁqﬂ‘c
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30 min

30 {9E

Question Number : 111 Question Id : 5431079534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
A person performs half of his journey by train, one-third by bus and the rest 5
km by auto rickshaw. Find his total journey :
Ud fdd U1 ST AT ¢4 ° ORI FRal 2, U fd8ls 99 gRT Ud gl 5 fddlo
Options :

30

Question Number : 112 Question Id : 5431079535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Excluding stoppages, the speed of a bus is 54 kmph, and including stoppages, it
is 45 kmph. For how many minutes does the bus stop per hour ?
SETd DI BleH a9 @ ara 54 fHHlo/HeT 2 a1 °8d &I INfAA dd Jg 45

-

fhdto/8eT 2 | ufayc fban B9 99 S&al 2 7

Options :

9
1.

10
2.

Question Number : 113 Question Id : 5431079536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question

A man on tour travels first 320 km at 64 kmph and the rest at 30 kmph. The
average speed for the entire 640 km of the tour is :

Ud A A1 W TEd 320 fFHle & fIU 64 o /HeT Tofar 2 991 a1 g &
ferg 80 faslo /6T | wetal 2 | FHUT 640 fH¥lo A= & oY 3 =91 2 -

Options :

3555 l:mph
35.55

' f#lo /HeT

36 kmph
. 36 feHIo /5T

71.11 kmph

; 71.11 ™o /HeET

71 kmph
" 71 fdlo /€T

Question Number : 114 Question Id : 5431079537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A train whose length is 320 m is running at a speed of 36 kmph. How much
time will it take to pass a pole ?
Udh oA fas a=E 320 He 2 36 fPHlo/HeT &l Acd WX als Y2 2| U GHl &I
UR &Y H 99 fha=r §Ha e ?
Options :

30 sec.

. 30 HHUS

32 sec.

32 HhUg

36 sec.
36 HUS

40 sec.
40 HHUS

gcollegeduniaa
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Question Number : 115 Question Id : 5431079538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A 280 m train is moving at a speed ot 80 kmph. How much time will it take to
pass a bridge that is 120 m long ?

T& 280 Hlo &=l £ 80 fbHlo/Her @l =t TR Tel V&l 21 120 Hio &= ol &1 UK
B § U e gAY T 7
Options :

30 sec.

30 HHTS

40 sec.
1073

Question Number : 116 Question Id : 5431079539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Out of 40 students, 14 are taking English composition and 29 are taking
chemistry. It 5 students are in both classes, how many students are in neither
class ?

40 BT H 9 14 UGl @ od € aU7 29 WA fasE @d 21 g 5 81 gl
Herait § £, a1 ol @en § o B A8 2 °?

Options :
2

=

1.

IJ"‘I
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Question Number : 117 Question Id : 5431079540 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

How many numbers are there betiveen 1 and 100 that are not divisible b}* 3
and 5 ?

1 dem 100 @ &1 foha=i =m0 2 Sl 30d 59 99y 78T 2 -

Options :

47
i.

43
2.

03
o

58
4.

Question Number : 118 Question Id : 5431079541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In an examination, 52% of the candidates failed in English, 42% in Mathematics,
and 17% in both. The number of those who passed in both the subjects is :

TIET H 52% AT FUG H SR gU, 42% O H TAT 17% a1 H Sl g9
39 apafeat & @ s ST fawal § st fear 2 7
Options :

33%
1.

Loy
[} ul_‘
i

(=]

Question Number : 119 Question Id : 5431079542 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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-

In a group of 40 people, 25 speak English and 20 speak both Hindi and English.
All the people speak at least one of the two languages. How many people speak

Hindi ?

40 AT & GHE H 25 vl dlold & a1 20 @<l Td 3{<l a1 ared & | 9 @
FH H BH S WU H TH 99T gioid 2| fhas arT @<l seg & 7

Options :

15
3

Question Number : 120 Question Id : 5431079543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

It 40% of the people read newspaper X. 50% read newspaper Y and 10% read
both the papers, what percentage of the people read neither of the news

paper ?

e 40% &FT GHIER-UF X Ugd g 50% dFT 99ER-U3 Y Ued & a7 10% i

Options :

10%
1:

15%

20%

Section Id :

Section Number :
Section type :
Mandatory or Optional:
Number of Questions:

Number of Questions to be attempted:

Section II English Language Test

543107140
2

Online
Optional
30

30

-

el
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Section Marks: 90

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 543107183
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5431079544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Select the word nearestin meaning to the given word -

Emulate :

Options :

{ Imitate

ueztion
5 Q
e Discuss

Denv
4 ; -

Question Number : 122 Question Id : 5431079545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label | Multiple Choice Question

Select the word nearest in meaning to the given word :

& omposure :
Options :
Liberty
1. .
> Restlessness

3 Tranquility

4 Anger
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Question Number : 123 Question Id : 5431079546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Select the word nearestin meaning to the given word -

Unalloyed :

Options :
g Calm

Unconcerned
Ab 5c1111telj.* pure and cumplete

Inferior

Question Number : 124 Question Id : 5431079547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word nearest in meaning to the given word :

Skip ¢
Options :

Introduce
1.

Insert
2

Notice
o

i Overlook

Question Number : 125 Question Id : 5431079548 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUltip]E Choice Question

Select the word opposite in meaning to the given word:

Urban :

Options :

collegedunia:s

India’s largest Student Review Platform



Civil
1.
Rustic
. Domestic

Rural
4.

Question Number : 126 Question Id : 5431079549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Select the word opposite in meaning to the given word:

Nominal :

Options :
Real
1
Small

Imaginar}'

G0 Clear

Question Number : 127 Question Id : 5431079550 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Select the word opposite in meaning to the given word:

Objective :
Options :
Intimate

5 Personal

3 Knownm
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Familiar

Question Number : 128 Question Id : 5431079551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word opposite in meaning to the given word:

Bridge :

Options :
Open
1%

Releaze
2.
5 Bind

i Divide

Question Number : 129 Question Id : 5431079552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the correct meaning of the given idiomatic expression:

Take to heels -

Options :
) Challenge

Run awav
& .
Resist

4 Surrender

Question Number : 130 Question Id : 5431079553 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Select the correct meaning of the given idiomatic expression:

Look forward :

Options :

; Expect

Announce
Predict
=,

Ruin

Question Number : 131 Question Id : 5431079554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the correct meaning of the given idiomatic expression :

To have sticky fingers :

Options :
y To be a thief

5 T'o get entangled

3 To touch oily things

& To wet fingers

Question Number : 132 Question Id : 5431079555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the correct meaning of the given idiomatic expression:

Midas touch :

Options :

y To lose money
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5 Io give money

5 [0 make money easily

. To borrow money

Question Number : 133 Question Id : 5431079556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the right word to fill in the blanks in the given sentence:

Ravi usually --— on time.

Options :
' will arrive

arrives
<3k

5 could arrive

i could have

Question Number : 134 Question Id : 5431079557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the right word to fill in the blanks in the given sentence -

I wish I -——- the answer now.
Options :
know
1:
5 have known
3 had known

knew

collegedunia:

India’s largest Student Review Platform




Question Number : 135 Question Id : 5431079558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the right word to fill in the blanks in the given sentence:

Kolkata is the most -——- city in India.

Options :
populant
1.

populous

populate
%

populace
4.

Question Number : 136 Question Id : 5431079559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the right word to fill in the blanks in the given sentence:

You have been zurfing internet —- the last three hours.

Options :

for
1.

since
from

right from

Question Number : 137 Question Id : 5431079560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Chose the correct option to form the right sentence :

We have finished our work,—--

Options :
) have we ?

5 haven't we

3 haven't we ?

did we ?
g

Question Number : 138 Question Id : 5431079561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Chose the correct option to form the right sentence :

He azked me to - him five hundred rupees.

Options :

i lend

snatch
beg

borrow

Question Number : 139 Question Id : 5431079562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Chose the correct option to form the right sentence:

Have you read —-- English poems ?

Options :

g much
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a little
none

anv
4. -

Question Number : 140 Question Id : 5431079563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Chose the correct option to form the right sentence:

E?uddenl}' there --—- a loud explusiml.

Options :
was

1.

wWwere

are
<

4 had

Question Number : 141 Question Id : 5431079564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blanks with the correct preposition :

He turned dowm the request.

Options :
1 Noun

5 Adverb

3 Verb

i Adjective

Question Number : 142 Question Id : 5431079565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes .
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blanks with the correct preposition :

The length of the play marred the impact.

Options :

Noun
1.

5 Conjunction

Adverb
3

" Adjective

Question Number : 143 Question Id : 5431079566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blanks with the correct preposition :

He made an inimical comment.

Options :

: Noun

Verb

Adjective
c

Adverb
4.

Question Number : 144 Question Id : 5431079567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blanks with the correct preposition :

Our team has never been beaten.

Options :
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i Noun

5 Verb
Adverb
.

i Adjective

Question Number : 145 Question Id : 5431079568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blanks with the correct preposition :

His dress was made — silk.
Options :

mn
1.

o1

from

of

Question Number : 146 Question Id : 5431079569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blanks with the correct preposition :

I prefer tea — coffee.

Options :
than

from
2.

with

collegedunia:s
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to

Question Number : 147 Question Id : 5431079570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blanks with the correct preposition :
Have you applied --- the post of the Coordinator ?
Options :

i for

at
1

by

Question Number : 148 Question Id : 5431079571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Slelect the misspelt word from the group given below:

Options :
Government

Bizzare
2
Committee

Ecstasv
4 \

Question Number : 149 Question Id : 5431079572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Slelect the misspelt word from the group given below:

Options :

Experiential
1.
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5 Synonymous

’ Vaccillate

Parallel
4.

Question Number : 150 Question Id : 5431079573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Slelect the misspelt word from the group given below:

Options :
Noticable

Diphthong

Seizure

Proverhial

section II Hindi Language Test

Section Id : 543107141
Section Number : 3

Section type : Online
Mandatory or Optional: Optional
Number of Questions: 30
Number of Questions to be attempted: 30
Section Marks: 90
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: ]
Sub-Section Id: 543107184
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 5431079574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

b -

g4 | foad 8= 9197 @1 9o ganm g 7

Options :
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Question Number : 152 Question Id : 5431079575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

& vl 399 | {7 T G a9 © 7

Options :

® + 9
1

D+ 9

H+ d

&+ 9

Question Number : 153 Question Id : 5431079576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

REr SREINCARCRE HIRAT :

Options :

; ISRz

Question Number : 154 Question Id : 5431079577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

a\i:‘ﬂ Fﬁ EEFJ-"-‘C ﬁ ] :fqh T‘T W T{]J?_:r 'ﬁ 7

Options :

Question Number : 155 Question Id : 5431079578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

RPN I H dE-G91 G 8 7

Options :

1%@#?#&1
2%@?&7
BQ_ffE_QTﬁET

qrg’m%ﬂ"ﬁ&:

Question Number : 156 Question Id : 5431079579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

294 9§ WX g1 &1 SSEY HH-AT © 7

Options :
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Question Number : 157 Question Id : 5431079580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

39 9 o9 weg § U &1 ST g3 2 7

Options :

Question Number : 158 Question Id : 5431079581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

g4 W f&T 99 &1 ISTER0 HHE-AT 8 7

Options :

Question Number : 159 Question Id : 5431079582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
"TRIGT 9Teg 44 gfrg i damar g ?
Options :

dcHd
1 :
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Question Number : 160 Question Id : 5431079583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :

1.

Question Number : 161 Question Id : 5431079584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :

"._r!I’&-I{thI’:].J ;:‘j[-_? E
1.

foradareics W
2.

4 l{-i 1'_":.. "_]l _':-l rl} Ih':‘n.-1 E'i i

Question Number : 162 Question Id : 5431079585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Question Number : 163 Question Id : 5431079586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

gH W DIH-91 e 4T &1 qAigarn 78 ¢ ?

Options :

; Giorel

Question Number : 164 Question Id : 5431079587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

'FTHN FT ARG TS B

Options :

B
1.
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Question Number : 165 Question Id : 5431079588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

CALECARCRI LR o A

Options :

1 S

5 Al

3. w
PR

4

Question Number : 166 Question Id : 5431079589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

ST H o arell AFT B fan weg g

Options :

Question Number : 167 Question Id : 5431079590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

- [y

99 FfcAE 9 Sidr 91 96 — s9d [ol0 Id 368 61 9399 HIfeiv ¢

Options :
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Question Number : 168 Question Id : 5431079591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

‘UT 9IN8 BT BT I 8

Options :

ald BNl
1

5 HERSIGG]

3‘63?4?1?’1’[‘11%'5717

45?1%@‘76;1?{7

Question Number : 169 Question Id : 5431079592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

.~ - =

8

[l a¥ & IMMIeIHal ¥ 9gd HH B4 & A F 379 § PIF Gild €

Options :

1&}@%%
2&?%5‘%1’#%
33ﬂ"~!¥u'l+:_‘.'_w“ q I g

j Udh HAN Il 4THR

Question Number : 170 Question Id : 5431079593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

HIAT S9bT &1 oiF 39 2

Options :
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Question Number : 171 Question Id : 5431079594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

"HTHTTET & SIAd] HiH & 7

Options :

| AR e

2 '*J;IQI\; if].'f’q ;i\ilEt

y giH=T+e Ud

Question Number : 172 Question Id : 5431079595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :

5 qH3H

AfeTh JEwe STl
3.

4:13314‘1%?43

Question Number : 173 Question Id : 5431079596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

=2l &I 9T g9 &1 Fura foeg fafer &1 o= @ ?

Options :
y 15 37 1, 1947

3 26 F9 N 1950
3 14 9=y 1949

i 14 f8dav. 1950

Question Number : 174 Question Id : 5431079597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :

) BIEA|

2@‘@%’1

Question Number : 175 Question Id : 5431079598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Bl d§ Y&+ dNaG & U8 €

Options :

1 q IR

2?"51%{11

T AR
3.
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Question Number : 176 Question Id : 5431079599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A6 da-4a <UD V@1 & — 39 q190 § §5-4a ®n e ?

C

Options :
y IGHER

Question Number : 177 Question Id : 5431079600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :
Y
1.

<9<ty

Question Number : 178 Question Id : 5431079601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Options :
< PN

1,
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Question Number : 179 Question Id : 5431079602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

FIIA P UIEErE 2

Options :

lwﬁn

Question Number : 180 Question Id : 5431079603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
YT &7 faEm ®

Options :

| T
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